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1. The formation (# &) of a peptide bond between two amino acids is an example of a(n)
reaction.

cleavage
condensation
group transfer
isomerization

moo®»

oxidation reduction

2. For amino acids with neutral R groups, at any pH below the pl of the amino acid, the amino
acids in solution will have:
A. anet negative charge

a net positive charge

no charged groups

no net charge

moow

positive and negative charges in equal concentration

3. Enzymes is a biological
A. Substrates

Solvents

Catalysts

Inhibitors

moOow

Deterrents

4. A fatty acid containing (4-#) at least two double bonds is called
A. cholesterol
B. saturated
C. polyunsaturated
D. dehydrogenase
E

monounsaturated

% [ EH2H
5. starchis a

A.  B(1->6)-linked manose polysaccharide X & B )
B(1->6)-linked glucose polysaccharide N H H Eﬂl

o(1->6)-linked glucose polysaccharide
ao(1->4)-linked glucose polyéaccharide

moouw

o(1->4)-linked mannose polysaccharide
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6. This compound (% F) is an example of a(n)
H,C CH,
CH,

protein

A

B. steroid

C. polysaccharide
D. lipid

E. polypeptide
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a) MRIEEREHAGO ((D/.)
b) MRIEBRENAGC0 (07 )
O MRIBRENAG=0 ((0/.)

8. BEPHNFRIBBAMA ? O FEREWLK S F HEIE—I1E ? (20%)

«ﬁkhﬂz BoEE2E

B & B
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9. {8 diastereomers ? (10%)

HO

10. A weak acid has a pK, = 5.0.

1.0 mol of this acid and 0.1 mol of NaOH were dissolved in one liter of water. What is the final
pH be? (10%)




